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Qo 17P/245/17(Set-I)
No. of Questions : 120
A} B e : 120
Time : 2 Hours } ; }I_rFuII Marks : 360
2 ) - [ quif . 360

Note : (i) Attempt as many queshnnb as you can. Each question carries. 3 (three)
marks. One mark will be deducted for each incorrect answer, Zero mark
will be awarded for each unattempted question. ‘

R T B g aw @ e B ww v 3 (@) S a2

mmmﬁﬁvwwmmrmaﬁﬁammm
Y B

i) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

ﬂﬁvﬁrﬁ?ﬁﬁﬁﬁ‘qﬁﬂﬁ?ﬂﬁaﬂa‘iﬁﬁwﬁasﬁ ﬁ‘rﬁ—ﬂﬁnﬂﬁl*ﬁ?%i

1. As per Cognitive dissonance theory, peopie seek to avoid ..
(1) Excessive Stimulation ' - r——,
(2) Contradictions between behaviour and beliefs
(3) Negative reactions e

(4) Discordant music

2) frar vd ZAER ¥ swnfy ~
(3) RIS wfifda
(4) whmm dfa

g
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2. For the measurement of attitude, bipolar adjectives are used in which of the

following self report measures ?

(1) Sociogram (2) Equal appearing interval scale

(3) Semantic differential scale (4) Social distance scale

afgiy oA B Ry gRyd e BE-R I Rraxofl o & fom wdRT
g 7

(1) TRy (2) T ARG HITH

(3) =} famed A (4) wrEfes g A

3. 'When prejudiced individuals engage in trivial positive actions towards the
members of groups they dislike.' What such behaviour is called 2
{3} Allurement (2) Appeasement
(%) Credibility _ (4) Tokenism
g AT & IR S R W @ A I e TeTE B FeC B E
TER @ WEER F T Few 8 7
(1) veire | (2) RS
(3) fezawrimm : (4) v e

4. 'The belief that your own country or culture is superior o all other countries or

ltures. The above statement defines which of the foilowing concepts !
cultures.

1i llechvism
(1) Individualism (2) Co vi

(4) Slereotype

'ﬁw%aﬂ'ﬁawéﬂmmﬁ'@%w?r%ﬁmmgmm
Wwﬁ{qﬂﬁf@?ﬁﬁﬁiﬂﬁﬂﬁﬁqﬁmﬁﬁaﬂm%?

aq |

(3) Ethnocen trism

- (2) WHEERT
) 0T (4) s
(3) FETAP

(2)
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5. When a manager appears to be more interested in 'getting the work done' than
in assisting subordinates to develop personal satisfaction with their work. The
work style of this manager is :

{1) Employee oriented style (2) Path goal style
{3} Task criented style {4) Contingency style

WE UE AR a9 stel B o1e e ¥ affara Wl wa & F wera @
o wreT oy E @t 8 A <@Ew 81 3w For Y e 9ol

(1) w9 gy deh (2) Art wEdel
(3) wiPpw I el (4) sefire 9

6. Conformity is defined as :
(1) When individuals mimic each other
(2) When group members influence each other -
{3) When people adhere to the norms of the society

(4) When Individual change their behaviour to (it to that of other persons in
their groups

(1) =/ &I Gob-gHY @t el DY

(2) w9 §9F Ga CF-gEN Pl wAIan &Y

(3) 4 AT FHA P AAD] BT FTACHT P s

(4) w7@ wrT oo wae § URad A 5 WE @ og A @ s @ it

T. Which one of the following is not true regarding both the Charismatic
leadership style and Transformational l¢adership-styia ?

(1) Both relies on the charm,and persuasiveness of the leader
(2) Both leaders are driven by their convictions and commitment to the I cause
(3) Both leaders often try to Make the status quo

e e el

{4) Both leadersfocus on fra.z}glnrming“u;ganizaﬂum into thewgder's visi
; 0T

13)
PT.O
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Frerffies % 9 211 1a oRed Hgm 4 ok aRedTET g w6 < @
= 3w T ?
(1) < T B el ok SR A ¥ AR e ¥
(2) Tt = e @ fae e e s aitegya <an dafoe @ F
(3} = A v asifRafdy sard e -:"r?f qUTA e B
(4) R o wvemst B S A gRefe ¥ wRafiy w0 R e e ®

8. 'We look to our behavior to find out what our attitudes are.’ This argument is

based on which of the following theory ?

(1} Drive theory (2) Cognitive dissonance theory

(3) Contingency theory (4) Self perception theory

T AU WoE B oW € 48wt o fon 5 e offgl wn Rl | @@
Frefofee & 9 fow g w smRa & ? |

(1) o R (2), TaFTEE R Rt

(3) mgufTE g (1) TR Fegel e ﬁﬁ;ﬂﬁ

8. 'A polifician who publically favours a tax increase but privately does not

support the same.' He/she will most likely to experience :

(1} Attitude incongruity | (2) Cognitive dissonance

(3) Attitude-behaviour dissimilarity  (4) Attitude prevention
memﬂﬁﬁﬁﬁwm%mﬁﬁﬁﬁqﬁgﬂrm
el @ T § [ TE AT BT

(1) st R @ R R

o) bRl SR (4) tgRy 99m@

L)
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11.

12.
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A belief in the superiority of one's own ethnic and culture group is known as :

(1) Intergroup bias (2) Group conflict effect
(3) Ethnocentrism (4) Social identity effect -
o U S WY W Y W &) aron @ wea &

(1) sy st | (2) wE waf wE

(3) woky dfeaar (4) wmIfeT® gEas W

Peoples' belief about how women and men behave are called :

(1) Gender roles (2) Gender stercotypes
(3} Gender norms {4) Gender expectaﬁdm,.
AleAIY Ud YT BY FIER WY, T aR & q1 B 9een 9y wEd
(1) o ity . (2) T wiegfdml

(3) foim w _ (4) foir weyramd

Which one of the following factors Fiedler felt were importaut in determining

leader effectiveness ? v
(1} Leader-member relation and maturity of followers
(2) Organizational success and positive power .
(3) Task structure and leader-member relationship
(4) Maturity of organization and subordinates ™
Wﬂﬁ%%ﬁ‘#mﬁﬁmaﬁmﬁﬁﬁﬁamﬁ
HeTayyl HFT ?
(1) ¥a-TEH G G S ) sRagga
{2) WTSATTE FHEH E BT wfk
(3) W RO TG Sy
(4) we a‘%} qRwaEr 14 aniiver
(5)

P.T.O.
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13.

14.

15:

A(‘.-’.:t‘:rding tor ]’ath~51m1 H'w.nr}f which one of the fDl].{]Wing 15 not a leaders’nip
hehaviour ? '

(1) Directive behaviour {2) Achievemenlt oriented behaviour
{3} Supportive behaviour (1) Participative behaviour

gor-eten Rigla & st rafofan ® & @19 U ge @mer e 8 ?

(1) T =EER (2) woefdy 9@ waen
(3) HEATTHE 9IT6R 4y TR araE

Beck's cognitive therapy for Depression requires the individual to -
(1) Make an objective assessment of their beliefs

(2) Keep a dream diary

(3) Keepa mood diary

(4) Set attainable life goals

FqHe & o 3% & AE e wiaR § afd @ sdeyddar g
(1) s sttt w1 o TGOS HRioA B @

(2) @A srad v @

(3} FATEI ST T @

(4) s &0 drg e PRy T A

A study completed over a distinct period of lime to map changes in social
phenomena is an example of : '

(1) Experimental Design {2) Comparative Design

(3} I.ﬁl‘ig'ﬂudiﬂﬂl Design (4) Case Study Design
‘f@mﬁ?ﬂﬂﬂ:&[&mﬁﬁﬁ?ﬁumﬁ‘ﬁfﬁﬁﬂﬁﬁiqwmﬂwwmm
§ Ryt 121, UG STTER 8 -

(1) s B (2) e S
(3) EniEE® T Pl (4) & WA NG 5

(6)
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19,
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Which one of the following is the variable that researcher manipulate so that it
is the only factor. allowed to vary systematically in an experiment ? -

(1) Relevant Variable (2) Independent Variable
(3) Dependent Variable (4) Suhjei_ct Variable

e 4 % o o 78 w & Rrwr et e o ¢ R T @ @
maﬁ!ﬂw.m#mﬁaﬁa’w%uﬁaﬁﬁﬁmm? '

(1) wriffres == ' (2) wE =
(3) wEF W : (4) warsg W

Which one of the following is correct range of standard normal distribution ?

ﬁr:ﬁmﬁwaﬁqmmmﬁwmm%?

(1) o0 2) o=0 {3]-g}ﬂ {4) o<n

Which one of the following is ot a measure of central tendency ?
{1} Mean (2) Mode  {3) Medtan (4) Mid range
ﬁmﬁaﬁa#ﬂmﬂﬂwﬁuwﬁaﬁm T 2

AL wEEE (2) sgeliw (3} T (4) weg a5

A central tendency measure that divides a data set into 100 equal portions, is
cailed : ;

{1) Quartile _ @) Deciles
(3). Percentile (4) PHMg of data
mmmwwm&nﬁﬁmﬁmww.ﬁﬁz <. FEeE
(1) wguts ‘ (2) Twn
(3) wwiw | B i

(7)

PT.0,
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20.

21.

22.

Which one of the following will bé applied to compare the variation in two or

more data sets even though they are measured in different units ?

(1) Coefficienl of Variation (2) Coefficfent of Correlation

(3) Standard 'I}eviatiﬂn (4) Mean Deviation

s 3 & S wp B I < Fen R A g P B for fpan s
w3 @ e s PR we & R nar @ 7

(1) IRadT T . o (2) GEaRR oI

(3) Wi Ao (4) mere fEa

Which one of the following indicates the strongest association ?
Drefyfga 0 € T T OO WA TR ] ET g7

4

(1) r=4 (2) r=.08 (3) r=-5 (4} r2=:3

Which one of the following is correct regarding, ‘when the variability due to
chance decreases, the value of Fwill .o

(1) Increase -

{2) Decrease

{3) Remain ssame

{4) Can't tell from the given information

ﬁﬁﬁiﬁmﬁ'ﬁ & e we £ e ST @ FROT A e g F

B | U |

(3) oy 4 W& B
(4) gﬂqﬁ?ﬂﬁ&ﬁﬁmqﬁzﬁgmﬂfﬁw

(8}
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What would be the coefficient of correlation, when both variables X and Y

increases or decreases simuitanenusly ?

(1) Negative (2) Positive

(3) Zero o (4) No correlation
mﬁﬂmeﬁm—w-mmﬁﬁ.meWwE‘W?
(1) s 2) TS

(3) = | (4) B aEEE T8

Which one of the following helps the managers with information required to
make good human resources ? '

(1) Selection (2) Performance Appraisal
(3) Recruitment | (4) Industrial Relations

wqrﬁmwwﬁﬁ‘mmmaﬁﬁﬁﬂﬁﬁﬁﬁﬁmwﬁmﬁ

HqEG FNO B 7

(1) = : (2) e qeviea
(3) it - (4) =maenfe s

Choosing the most Suitable candidate for a job.from the available applicants is
termed as :

(1) Hiring (2) Selection
(3) Placement - (4) Employing
T TR B R o oI 7 g et @ g T ey
(1) B | wT _ (2) =a
(3) frrar (4) YR
. ,‘rg] -



17P/245/17(Set-)

26. Choose from the following codes, The selection process depends on a number

27.

of factors which include

A. Organizational strategy and objeciives

B. Tasks and responsibilities of the job

C. Characteristics required 1o perform the task

. Recruitment methods

Code:
(1) A, B, L ; 2y B,CD
(3) Only A & B (4) Only C&D

%ﬂ%ﬁnﬁgﬁﬁgﬁlﬂmaﬁuﬁmﬁmﬁw%mﬁ%:
A. Trea @ wAdifa sl 9geeE |
B, el @ vy IR REAEE

f_ ﬂ'ﬂ%ﬂﬁﬁqﬁ$ﬁmmmﬁﬂwﬁ

D. w& & 9%

[: /T

(1) A BC ~ 2) B,C,D

(3) FEAATAD &y FFACT@D

In Freud's theory which portion of personality is concerned with the immediate

gratification of primitive needs ?

(1) OnlyId (2) Oniv Ego
(3) Both Id and Ego (4) BothId and Superego

m$ﬁxﬁﬁmﬁﬁﬁﬁﬁ¢wﬁmaﬂﬁmﬁwﬁi&@

S (2) ¥ FET
S 4) 7@ T Wi T
@) T @ A

(10)
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The concept of "Collective Unconscious™ has been introduced by which of the
following Psychologist 7

(1) Karen Horney (2) Alfred Adler ~

(3) Carl Jung : (4) Sigmund Freud

RS aree o1 wyed Freafaien % ¥ fow st e R ?
(1) &9 F . (2) ae Yeaw

(3) =l g - C (4) R e

Accerding to Gorden Allport, a single trait that dommates an individual's
entire personality is kripwn as : '

(1) Central trait (2) Cardinal frait

(3) Source trait =~ (4) Surface trait

%W%WﬁwaﬁmwmmﬁﬁﬁmmﬁﬁawmﬁFm
CACER TR

(1) *=r diero (2) amareye dierpor
3) W ¥ierer : (4) wad e
When pe:::farmanee ratings are ml]ected fmm supem Imwtes and
peers; it is called :
(1) 380 degree feedback {2) 100 percent feedback
(3} 360 degree feedback , (4) 300 degree feedback
CERE LR o e mmﬁmﬁwﬁﬁﬁ%% H'Tsifrﬂﬁ‘?‘fz-
(1) 380 R¥h sfdgfe @ Iﬂﬂ‘ir%?rﬁn'f'?rgf&r '
(3) 360 Rt ufirgfe (4) m%ﬂwﬁg&
o

PO
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3.

32.

33.

When we travel in a train, objects far away appear {0 move in the same
direction, whereas close objects move in ‘the opposite direction. This
phenomenon is known as :

(1} Atmospheric Perception (2) Height Cues
(3) Motion Parallax (4) Linear Perception

T T W R T E, G S aegd owh R 4 wedt s o @ vl o
Qo e St e ¥ o &1 T e B FE &

(1) aHed Teaefasor (2) Saré HaT

(3) Wia e (4) Y& gl

Auto-kinetic movement does not take place if there is :
(1} Distance between stimulus and eyes is too far

(2} Auention is selective |

(3) Fixed frame of reference

(&) Hilusion

s Rty afzg o a8 afd

(1) Sgds @ @ da gl gEC WE

(2) wafee SIEF &

(3) a= B et T

(4) ¥H &

The Phi-Phenomenon is a form of !
(1 Stroboscopic Metion (2) Photopic Motion

(3} Scotopic Motion (4) Auto-kinetic Effeci

o AR TP WO B
(1) ST oy = () wreifE T, @
3) et fy w1 (4) ﬁr’lTﬁ?ik__:F TG I

(12)
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Which one of the following is not a principle of perceptual organization ?
(1) Law of Proximity {2) Law of Similarity

(3) Law of Contrast (4} Law of Distance

‘ﬁﬁfﬁﬁﬂﬁﬂﬁﬁﬁwmﬂlﬁﬁfmﬁﬁﬂq?ﬁﬁ?

(1) sfear o frm (2) w5 P
3}ﬁﬂwmﬁm (4 TR P

As compared to the cones, rods appear to be more sensitive to which of the
fllowing ?

(1) Longer wavelengths

(2} Shorter wavelengths |

(3) Any wavelengths

{4) Both shorter and longer wavelengths

R ;M gorn A, VoW FeRen % & s Ry varer e a4
(1) = et &

(2) oI e o

(3) faedt o mrded & . (e

(4) B o o g et @

Whm an object is maved farther away, we tend to see it as more of {iig

invariant in size. This is due to
{:'IJ' -SI'IEPE fﬂﬂﬁt&ﬂﬂ? """"-u.;“ (2) SLZE*mmtamy
(3) Colour coRglaney - (4) Depth constancy

(13)
10
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T U SR 3E e ol O 89 9 sen H o arfYeiy Sad 21 0 T

(1) g Wil 2y s W
(3p T W - (4) TexTd W

37.  Wiuch part of the brain is important for langtage comprehension ?
{1} Wornicke's ared (2) Circle of Willis
{(3) Hersch's gyrus (4) Schwann's cells

i AT e e @ g § R qeraqul & ¢

(1) af¥s &3 (2) fes w1 &
(3) & E (4) FarE ST

38. The central nervous system consists of which of the following ?
{13 Sympathelic and parasy mpathetic nervous systems
(2) Brain and spinal rr:rd
(3) Sensory and motor systems
{4) Cranial and spinal nerves

r;iﬁz*r.aﬂﬁaﬁﬁﬁrﬁ'ﬁﬁﬁﬁfﬁﬁm_m 27
(1) R T v et dfim 9
o T
3y Wl T (T T
y #FE O T T
(14)
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The main function of cerebellum, i5

(1) Muscle coordination - (2) Homeostasis
(3 Emotional contrnl . (4) Consciousness
AR B g et

(T) TRl &1 Fag ©(2) e
(3) wifre fasuy ) e

Which one of the ft“;llﬂwmg stalements mismatch to each other ?
(1) Parasymipathetic nervous system : slows the heart ang relaxes the muscles
(2) Autonomic nervous system : regulates the involuntary activily of the heart

(3) Somatic nervous System : transmit signals from the ceniral RETVOUS System
" to skeletal muscles |

{4) Thalamus: coordinates vquntar}! physical acHons
ﬁw%%aﬁ#aﬁawmw-w WaReT & 7

(1) WRERE e o 7o BT AT B R R fismm
(2) arew <ifia 5 : B B aftes TRRR = ol mer

3) 2w o1 o - 3=t e o3 @ mad AR B ey Sorey
(1) dw - Yos Hes T @ anfa wen

Whic_h Lype of metabolic fuel is utilized for generating glucose under conditions
of severe starvation ?

") Aming acids {2) Starch

(3) Fats (4) Ci yc;;gén.

W WI ‘Eﬁ?ﬂ % ? : N *—-EE-"@EH o =g Qei-_-F

.,

(1) oflt ThE (2) &~
(3) Wew | =L @) gk
(15)
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42. Which one of the following is also known as 'master gland' as it directs the

43.

activities of most of the glands in our body ?
(1) Adrenal gland {2} Pituitary gland
{3) Thyroid gland (4) CGonads

Preftyd & W fRY Oa W) AREY ToRe R S & @i AR TEN TR B
e Rt @ et ) el FITL B 7

(1) afgws T (2 SR 4
(3) omEs U i (&) T AR

Match List-I with List-11 and select the correct answet from the codes given

below :
List-1 List-11

{Hormone) (Functions)

A. Prolactin i i Controls the release of milk during
chitd birth
B. Omxytocin . Prompts the production of milk in
. pregnant mothers

C. Th}-’m}iiﬂ iil. Helpsliver Lo Lreak down glucose
[7. Tnsulin | ‘ iv. Influences the];nd-;'a metabolic rate
Codes:

A B C D
(1) i ) i il iv
(2) ii i i iv
{3} i 11 v 11

i 1l v

4y il
| (16}
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fere-Lat fore-11 § femey ofk A fay o 7 wow 3 & Wt s 9y

foree-1 féree-n1
(efiit) . - @)
A. drcifdes i g o= & dF @ P s B
| w1 i oo &
B. ooy . T ARl 4 gy @ e B
=t wvar #
C. umiifas Hi. I BT 7 B e § weg v &
D. sufem | v. W% wwEy R 9 R @
. | A
?“E_:
A B C D
(1} i ii i - iv
@i i i iv
@3) i ifi v, i
(4) iii i fi iv

As the spinal cord enters the brain, jt develops into the :

(1) Cerebellun ) Pons
(3) Medulla (4) Amygdala
9% AT AR 7w B & R A &
(1) #ﬁiﬁm_# () uie #
(3) Wgem # (4) vFrrern #
(17)

P.T0,
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45. Which one of the following structures is #ot an area of forebrain ?

{1} Cerebral coriex (2) Cerebellum

(3) Basal ganglia | (4) The limbic system
Prefeifa & & B 1o Hee e o &3 TET 8 7

(1) e i (@ R

(3) & AT (4) forfas Riwes

46. Which one of the following is not a part of peripheral nervous system ?

(1) Cranial nerve ' {2) Spinal cord

(3} Ganglia - _ {4), Spinal nerve
Pt 3 & B T Rt b o3 @ e TR 7
(1) v (2) ¥oEE

(3) mferal (4) ¥ =

47. Maslow's hierarchy of needs includes all except which of the following ?

(1) cognitive needs (2) physiological needs
(3) safety needs - (&) belongingness needs
e B aravE GeTgEd § Preaies # @ Wl ¥ R

(1) FES SR (2) &S smaTgETy

(3) TREN ATILTHAT (4) ST ) SRREBEN

48, When a consumer has to choose between two attractive alternatives, which

rype
(1) appmafhﬂaPPmaEh

of mﬂtivatiunal conflict is this ?
(2) positive-positive

, @) avoidance-avoidance
(3) win-wit

(18)
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wa T aplem @ & aeie fawed ¥ 9§ 5l o @ gg F gsar €, @
ug s UER &1 AiRoes Hed § 7

{1) AMTE-ITE (2) ﬂ?ﬁﬂiﬁ-ﬂ?ﬁﬁ
(3) ool (4) TRER-IRER

. According to Maslow, the self actualizing tendency is :

(1) Instinct ~ (2) Imprinting
{3) Growth motivation 4) In::enﬁve
T B SR WAt @ vt & -

(1) gl " (2) fors

(3) IR o (4) Hea

Choose from the codes the characteristics that are present in the ‘Conduct
Disorder' ?

A. Violent and aggressive behaviour
B, Seizure

C. Deliberate cruelty towards people
D. Vandalism or damage to property
Code :

(1) Only A, C&D
(2) Only A&B .

3) Oniy A, B&D
(4) OnlyB,C & D

18)
) P.T.
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a1,

a2,

woha A A arae fagl 4 gufem Q9w gfv
A. fRBurEs Ud ATHTHE HACER

B. Z@
C. =t & iy SiFggee A

D. &z m vl ) qoar

HaHd
(1} dae A, C yd D (2) B A T4 B
(3) ®od A, Bud D (4) aer B, C 76 D

A student complains that he/she has the seemingly irresistible urge to wash

hands repeatedly. Such a repetitive urge is called :

(1) Obsession (2) Compulsion

(3) Anxiety (4) Maladjustment

T Rt Reme wwe & fb 0¥ TRaR E N @ sl fw g e 8
TH WHR & IREN B Tl IR B Hed ¢

(1) e (2) &

(3) feimm (4) GRS

A business executive goes through each day feeling uneasy and tense, sensitive
to criticism and has difficulty in making decisions even about little things and

constantly worries about her job and family matters. Her symptoms fit to which
diagnostic category 7

(1) Major depression : (2} St.rmaruﬁnfm disorders

(4) Generaljzed Anxiety disorder

(3) Phobic disorders
(20}
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T duiae HEHER wREE 987 o 99, ararEa @ wi ddeadladr vd 81
A B AN 7 R i @a 4§ wfenrd qen e sl e sfie aRae & saedl @
T} % RifT W &) Swe e B Aefe gl ¥ e £ 7

(1) u4d sawe (2) WFEmH faer
(3} wane fAer (4) am=y o fRer

Which of the FD“G"."-IFﬁ'lg symptoms are found in people with Schizophrenia ?
A. Incoherent thinking and bizarre behaviour

B. Malingering

C. Disturbed affect

D. Presence of two conflict personialities

Code:
(1) Only A 1 (2) Both A &D
(3) BothA&C (4) Only C

. AR wRa A # afefag W 8 @l der o I & 7

B. X1 T FEAN
C. aIge v

D. = wud mfaereat @ Falfy

Hial
(1) I A (2y A TED &
(3) AW C gl (4) FmEC .-

( P.T.0,
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54,

55.

56.

Which one of the falluw.ing Model best explains the acquisition of Dog phobia ?
(1) Psychodynamic (2) _He}mvio.ral

{3 Humanistic (4) Medical

Profeied % % @ @@ diga T4 @ 1w S Pl @ w9 dEAR e wee 2 7
RUREE it , (2) @FERTEEE

(3) HrEoEe] . (4) fFafeFeram

Which one of the following personality disorder is characterized by the

detachment of social relationship.?
(1) Paranoid : {2) Schizod
(3) Dependent (4) Borderline

fr=foRea § & oW @ =foe #1ReR wmfdm weet ¥ feme & w9 #
RICIIETE

(1) Widtes () s
(3) Tl | (4) g

Ihe research evidences suggest that increased neurotransmitter receptors in the

brain could be responsible for the onset of which of the following ?
(1) DPepression ' (2) Anxiety
(3) Schizophrenia " (4) Phobia

gy s e TS & € 5 ik ¥ ag gy "Rniier Rewey Frfalea 7w
e uRe @ fare Soverl 2w 8 °

{0 ajTES : (2) Qi'fi
) @ s

(22)
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In learning disabilities, the name for mathematical disorder is :

(1) Dyspraxia " {(2) Dyslexia

(3) Dyscalculia - " (4) Dysphasia
s Pt ¥, P W PaR w T R
(1) fowiamm ) fewfm
(3) Reemegfonm | (4) feemfmmm

Individuals with Down syndrome’ often have moderate to severe intellectual
impairment with a measurable IQ usually between :

(1} 45-50 g : (2) 50-60
(3) 35-55 ; {4) 25-35

wwmmﬁm%mmmmammﬁ
wieg gr: @ 2

(1) 45-50 % = (2) 50-60 & ==x
{3) 35-55 & =g (4) 25-35 B M7

Fragile X syndrome is associated with which of the following ?
A. language impairment
B. Behavioural pmﬁlems

C. Physical weaknesses

D. Moderate level of intellectual disability |

Code: p
(1) OnlyB & D ) OnlyD
(3) OnlyA,B&D 7"~ . (4) AB,CDal

(23)
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gwrgd X W ferata 7 9 e weafg & 7
A, STHr apgeedar

B. wmmeiNE mg

C. TRRe G

D, e wR @7 dad b

G e TS
() Pea B TE D (2) ®a= D
(3) #5dl A,BT@ D (4) A, B C, D™

60. Which one of the following is et the method of ascertaining reifabifity 7

(1} Homogenious method [2) Test-retest

(3} Paralle! form (4) Split half
Prerferfer & € #19 v fGvaaoa ko 2 o @Y 7878 ?
{1) THEEYH ﬁ‘:‘il (2) T O]
(3) AT ufde (4) amt ﬁéﬁ

61. Following is the clinical picture of which retardation syndrome ?

"Almond shaped eyes, flai and broad face and nose, short and broad neck, and

stubby fingers”
(1) Turner's syndrome (2} Down syndrome
(3) PKU (4) Hydrocephaly

it B wad Rige @ et ol 27
T ® AER @ o, e T e TET W A, 9 a4 mEa ek
<R R ) 3

(4) ETTEIE

@ oA
(24)
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62. For diagnosing a psychological disorder which one of the following
classification system do psychologists rely on ?

(1} Handbook of Psychological Disorders (HPD)

(2) Diagnostic and Statistical Manual (DSM)

(3) Stanl;lard Manual for Psychological Disorders (SMPD)

(4} Standard Criteria for Reference (SCR)

T PR @ fem we @ fy mietie ARl W fw wffe
AT TR T § 7

(1) ¥egw afiw ERaEfee et (g7 § D)

(2) mﬁ?ﬂ\ﬁm s wfeRemd dgra (& w0 )

(3) Rved FrpIe B wEsme (SHeed (@ W @ )

(4) Rved FEeRA oRk Rure (o8 o aR)

63. A person is called drug addict because of :
(1} Habit to drug taking
(2) Lrresistible urge to take the drug and increase the dose
(3) Irritable behaviour
(4) Emotional detachment
UF R P §1 (feae SN a0 -
(1} &7 & ) aed
@) T B e m;ﬁwﬁqfa
(3y Prsfirer =rgR
(4) wiafe et

(25)
P.T.0
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"84, The alcohol intoxicated individual has less cognitive capacity available to

63.

process all on-going information and so alcohol acts to narrow attention. This is

known as :
(1) Alcohol Dependency (2} Ailcohol Abuse
(3) Alcohol Myopia (4) Alcohol Amnesia

Tedied @ 79 § R 4 B W 9 G S e € 5 ag ag g 6l
9 gEel ) UHh ax wa SN Uepiew a@ue @ €iAT @ qar & $9 e
g :
(1) wowplge fAwven (2) TeIEE GRAE
(3) Tepled Fwe glkegy (4) TepEd faERe

Which one of the following pair is the primary symptom of antisocial

personality ?
(1) Guilt and Pride

(2) Anger and Aggression

* (3) Amorality and Impulsiveness

(4) Hallucinations and Delusions

e ¥ T e ST srHie @Al @ AR e § 2
(1) oo 4 T T

(2) W TG ST

@) s g sTamET

(4) v 1E e
{26)
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"When we memorize a list of words, the words at the begﬂuﬂr_ng and at the end
of the list are remembered better than words in the middie.”
Which one of the following is related to the above statement 7

(1) Working memory (2) Chunks

(3} Serial position curve . (4) Procedural knowledge

mﬂmﬁﬁwﬁﬁuﬁmﬁaﬁﬁﬁaémaﬂ?ﬁ$mﬂm$
ol P e § W 9 e E

P 4 & B9 swie How ¥ gwifg & ?

(1) @ Wt 2) @

(3) #fw Refr am : . (4) vfFares 9

Which one of the following is the melmur}' for- factual 'Mﬂrﬁﬁm that we
acquired at a specific time ?

(1) Semantic Memory (2) Episodic Memory 1

(3) Procedural Memory : (4) Working Memory

Prfifas & & @5 v suems g @ SR & R o A Rt W w
A B § 7

(1) s iy - (2) i i

@) ufsares i (4) Prird wofy

Which one of the following twerrect regarding ¥isionary Leadership ?
(1) Initiative for need Sdtlbfal:tl[m : (2) Long term perspective

(3) Medium term persperhve N " (#) Hard'Yask moster
i ¥ & o W vl Tam @ e A im?% ?

(1) sraemwan e a‘a.fmqﬁa @ e R
(3}116&1@7%1511&%&?1 i (4) & W ¥

{27)
RT.0
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69, Which one of the following is net a major part of working memory ?

{1} A phonological loop (2} A visuo-spatial sketch
(3) A central executive (4) Chunking

Frifefae # & w19 v e R 3 w e T8 e ?

(1) ST=TTE He (2) T gro-taniie vt
3) % TR IR | (4) afmn

70. Encoding refers to:
(1} How information is stored
(2) How information is retained in the memory
{3} How information enters in the memory
{4) How information is recalled
e T W A
(1) T a%»ﬁ wyfad gx €
2) e @ e 4 ved @
(3) oA e # Y gaw FI €
(4) gaIe & DY FUET B &

71. A longer test Le. large number of items tends to yield a:

(1) Higher reliability coefficient (2) Lower reliability coefficient
(3) Higher validity " {4) Lower validity
Wﬁﬁwﬁ*ﬂmﬁ'mwﬁwmmﬁm%:

(1) < frawam TP @) fr R Qi

(3) 99 qere (4) T deren

(28)
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Which one of the following statements is corréct about homogeneous test ?
A. Validity is dependent upon reliability

B. Reliability is dependent upon validity

Reliability and validity are contradictory

Poor reliability yields high validity

o o

. Select the correct answer from the codes given below :

(1) OnlyA - (2) AllA,B,CandD
(3) OnlyCandD "~ {4) OnlyBandD
Frefefea ¥ & 919 vo su oo F gode @ e § @@t 2 7
A, For RwmEigm w® AR avd @

B. freawfiaa dumm wv fnlv avdt 3 -

C. favawdrgar v dwem smimy &

D. e [sqeraar & oo 4o mg o) &

Frafefan o2 # % a8t o= 9o

(1) @8 A (2} A,B,C 3R D i
Q) BACEWD | (4) Paet B wd D

Which of the following staternents s not correct about test jtems ?
(1) Test items should not encourage guesswork by the subject

(2) Test itermns should encourage guesawvrkl

(3) Test items should not present any difficulty in reading

(4) Test items should not be too easy

FreiciRa # ¥ B9 B Ther garel & aR F we 7 2

(1) TOu% @ TS SN ST g e A ala o sk
(2) e gwHiE NS AR FTAH W wgrar A A Y ARy

(3) TG s ve F IR SuR g e A B
(4) Tl gER Hegd R el B iRy '

(287" PTO
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- 74.

73,

78,

Reliability and validity are two dimensions of ;

(1) Test efficiency (2} Test procedure

(3) Test construction | {4) Retest vaiue
feeawaraar v duqr Y fem & - |

(1) oréierer FeTen = (2) e whE o

(3) wew famior & (4) FEadeT 2o @l
A'c-:urdi}ig to Spearman what does 'g’ stand for ?

(1) General Intelligence (2) General Knowledge
(3} Group Intelligence (4) Group Knowledge

W & yqar A F w22

(1) wArm gfg (2) T ST
(3) TR 9fg (4) |98 T

Which one of the tollowing is not a subtest used by Weshler to measare
intelligence ?

(1} Visual discourse (2) Cemprehension
{3) Object assembly (4) Digit symbol

Pr=fafir ¥ 8 @ 16 J%or gaR1 I 3 ¢ 9f $ AmE @ SU-wET T8l
B | |

(1) =y Hdrs , (2) Hm
(3) g WA (4) 35 Wi
77. Which one of the following is not among the list of intelligences devised by
. Gardner 7 '
(1) Spatial Intelligence © {2) Linguistic Intelligence

(3) Interpersonal Intelligence (4) Emotional Intelligence

(30)
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FrfaRen d @ 919 @ TeR g@R yRuTed gfed ) I W JE & °
(1) wnfe giyg (2) WY 9fE
(3} sivdafes gf ' (8) wfe gfy

Which one of the following is not a temporal arrangement of CS-UCS pairing ?

(1) Parallel conditioning (2) Delay conditioning

() Traceconditioning () Backward conditioning
Freafafe % % @ 15 ¥ veg @ ver R w1 whe e T 2
(1) IR Sijder (2) faers argem

(3} Forg orgaer : (4) 9 N i siqeun

"When a father temporarily denying the young son driving the family car on
weekend outing,” This is an example of which of the following ?

(1) Negative reinforcement (2) Positive punishment
{3} Negative punishment (4) Denial

VR TE T S gar A o et w9 W GRAN 9 PR 9 WeEE O B R
U & gR B 2w Tfaied § ¥ e saewe & 7

(1) THERIAS vEed (2) =T g8

(3) TERTHE 5T () adrer

Which one of the following is no a basic principle of O‘b;eryaﬁﬂnal- Learning ?
{1) Retention (2) Production Processes
(3} Feedﬁacic s | {4) Motivation

Pt * % 247 1 8 IR 37 e Rl w2 2

(1) ST (2) T WPwar

(3) Wz (@ sk

| (31)
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81.

82.

83.

"A hypothesis tested for the purpose of rejection under the assumption that it is
true,” This is called ;

(1) Alternative Hypothesis (2) Null Hypothesis
(3) Statistical Hypothesis (4) Composite Hypothesis

“Th UReeH o s I FEER e B 9gavd W 3N 9hE 5 we fe
T b e wew B 39 @ed ¥ '

(1) #ofous alee 2) T= TEN
(3) ey gREmear (4) <7 aRded

Which one of the following is cerrect regarding The probability of rejecting the
null hypothesis when it is true’ ?

{13 The power of tesl (2) Level of significance

(3) Degree of freedom (4) Typelerror

Prefrag 3 4 Wi o 3E et § wE @ g Ree & R w o
T T8 20 8 WY 48 W By 7 -

(1) wéegor @7 afty (2) deieT F WK
(3) el @ (4) TEU I3

Whichh one of the following is the major P!-i}-’chﬂlﬂgiﬁll crisis of middie
adulihood according to Eric Erickson’s stages of human development ?

(1) Intimacy vs. Tsixlation

{2) Integrity vs. Despair

" (3} Generativity vs. Self Absorption

(4} ldentity vs. Role confusion
ﬁﬂﬁ{ﬁ'ﬁﬁﬁﬁrﬂwqﬁmqﬁwﬁmmtﬁﬂwﬂfﬁmm
g 61 e AAGEE €T 27

(1) e FE PR

(7) YT T FERT

(3) FeEET T ATl

@) . :quar ‘d’ﬂﬂl
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The inherited responses to stimulation in certain areas of the body is called :

(1) Maturation (2) Reflexes

(3) Growth spurt (4) Heredity

TR B B A B 980T W Aufle w9 O A ot B e ¥
(1) wReaar (2) smfos fran

(3) qf?; k] . 4) srafirma

A researcher had studied a group of children at different ages. Which of the
following research method he/she has used ?

(1} Cross sectional (2) Longitudinal
(3) Cohort {4) Experimental

Wﬁmﬁm%aﬁﬁmwwﬁwmw&waﬁg#%ﬂmwﬁﬁﬁﬁﬁ
P e fafer o7 S fw 2

(1) sigee @) st

(3) HEe - (4) WIS

In Piaget's theory of cognitive development, in corporation of new information
inlo existing mental framework is called :

(1) Assimilation (2) Accommodation

(3} Object Permanence {4) Egocentrism .

fra & sermere fom & fgia 4 deg Wi 2m & :
Ly T qE B N P

(1) T (2) wERrT
(3) a%q R (1) T
"If a researcher is intarested in lopking at w-hethp?.r ual‘l}f academic success leads

to better grades later on in high school and coll ege. “Which :
research methed best suits for this research problem ? ong of the fnllnwmg

(1) Simulation (2} Correlational

(3) Descriptive (4) Ohgervation

(33)
. P.T.0.
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88.

“gf% TF WGl 39 9 B @ W oof TEdr & fh o uRf sreTefae awer
qE W B MR FionT H IR e @ 3w avd 2 Prefefem W S SRl
o fafe g oy wEer & forg weifs Sugwr & 7

(1) Regeres (2) HEHITHS
(3) U (4) Geror

Which one of the following is an advantage of Longitudinal research method 7
(1} Tolook at changes over time

(2) Require enormous amount of time

(3) Selective attrition

(4) Shrinking the sample size

Rrffes # % # o srpded i Ry w1 A R 7

(1) 999 & WY € qre) aRad=] B S

(2) FET ST THA B FEH

(3) wETTE HEHvl .

@) wReEl SR B g

Which one of the following is the correct sequence of the physicat development
stages ?

{1) Fertilization - Zygote - Embryo — Fetus

(2) Fertilization— Embryo — Zygote — Fetus.

(3) Implantation —» Fertilization —» Embryo > Fetus

(4) implantation = Zygote — Embryo —~ Fetus

freaferfe & A @ T TR Rarw & TN B R P R 7
(1) PR > T - THIS — T

(2) P > RS - TEIE - o

3) FeIRIT > = - mifts - ot

@ Ww _s TTgE - e o PO

(34)
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Which one of the following is correct statement regarding Cephalocaudal
sequence of development ?

(1) Development is from foot to head

(2} Development is from middle to pmphery

(3) Development is from head to foot

(4) Development is unpredictable

ﬁ%#ﬁﬁ-ﬁ%wﬁm%mﬂa‘@ﬂaﬁm%mﬁﬁw%?
(1) % F R & oiv R

(2) g & R A &R Ao

(3) R R P & R

4) fawm agdwertty &

Which one of the following is true concerning the Inr.imdua] differences in
human being ?

(1) Differences in experience

(2) Differences in heredity

(3} Interaction between heredity and environment

(4) Interaction between heredity and t;xlpmience

Frfofen § & B 15 wger # Sufs P S ol 4 wer d 2
(1) orgerd ¥ e

2) e # ferar

S
&) g v g 3

R | PTO.
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92.

93.

94,

Which one of the following is an example of Fine Motor Skills ?

{1) Mountain climbing (2) Rope skipping
{3} Sprinting {4) Writing a letter
Frefoien § @ 9 (o Heq e B BT SAE § 7
(1) 988 T° weAT (2) == HE

(3) e ” (4) A ferrm

"When a woman believes that ‘Nurture’ sirongly affects the development of her
daughter,” She would not agree with significance of which of the following ?

(1} Genetic Factors

(2) Exposure to peers

(3) The types of toys at home

(4} The warmth displayed by the parents

"1q g e a% FROT v @ o el o @ Re P g dugd 4
yaifda s &7 ow B § o feaed wriwar § wewa g# 2 7

(1) O v TR

(7y il @ e

(3) ™ ¥ Raciil & yFR

(4) wren-far gerr yef¥ e

"Morality is judged in terms of sodcial rules or laws applied universally.”
The above statement is related to which one of the following stage of moral
development ?

(1) Preconventional (2) Conventional
(3) Moderate conventional {4) Post conventional

e @ fvky TR B @ a3 Wi w0 W @ e 3 6 T
ﬁ“lm%l”
mﬁﬁmﬁﬁﬁf@ﬁﬁﬁ%-ﬁmﬂ?%ﬂaﬁw%?ﬁﬁ???

(1) T R (2) R

(38)
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A child is understanding the fact that one is male or female, itisa:

(1) Gender Identity (2) Gender Stability

(3} Gender Consistency : (4) Gender Roles '

U T 59 TRE Y AUES ova & o e wr e &, gw

(1) & gggmm » (2) foim wenfyey

(3) o =nfe : (4) foi fferd

quif:h #atist'mﬂ test appears to be suitable for evaluating mean differences ?
(1) Independent sarnple t-test (2) Paired sample t-test

(3) Chi-square (4) Sign lest ,

ol & ol B eate R @ R wer ke ode ) wda S @ 2
(1) v uftrest Suden (2) g7 wfrast Sudteror

(3) STE-FRRR (4) wrgs uer

The objeclive questions Or quiz questions makes use of which form of retrieval
memories 7 '

{1} Rehersal (2) Relearning
(3) Recall (4) Recogmition
TS W i REw v R TR D g o @ e avd ¥
(1) gremRy ' (2) gl
(3) TeRER (4) weafdsT
The problem solving process bégins with :
(1) Clarification of thq situation (2) Establishmenl of alternatives
) Teolstiosiof e s ~ (&) Tdentification of the diffculty
WHEIT W-"-‘ﬁmMﬁ% B
(1) TRRef B wlfewr 3 T () Pl S ey
(3) wﬁﬁm il ' (4) DR & ggme @
(37) "
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99. The unconscious perception of stimulus that is too weak to exceed the absolute

threshold for detection, is known as

(1) Just noticeable difference {(2) Difference threshold
(3) Subliminal threshold "(4) Response bias

Iedes & sfed yEheRer, @ 309 oHat 2 & gEEe @ fo e gEen
T U T BT UIQ, F TS L

(1) e 59 95 ' (2) 3R ZEh
(3) wruFT 2w (4) argfen st
100. The tendency of the sensory receptors to respond less and less to a constant
stimulus is '
(1) Threshold (2) Adaptation
(3) Perception (4) Sensation
e FEST ¥ 0P wod 9edud 3 ufy frer  Fre amfar @A @ AgR =
(1) swsh (2) WA HAA
(3) vemehEE (4) daeT

101.

Metabolisin determined by which of the following ?

(1) Proteins formed as dictated by genetic material

" (2] Size of proteins in the cell

(3) Availability of amino acids

(4) Protein composttion of the DNA

arqey et 3§ 9 frew fauifa g g ¢ | b
(1) TR Terdt W ure HEE |
() B ¥ A @ AR

(3) T AR & IUTERT o

) @qqqﬁg‘lt"fﬁ?ﬁfm%

(38}
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Which one of the following is not a sirategy usually teach by sports
psychologists to athletes ?

{1} Relaxation (2) Mental Rehersals
{(3) Stimulus Delection (4) Cognitive Restructuring

for=ifafam A 9 o9 1w wmRw § A da s 8gfael sam wa vaee & T8
Remamme?

) R | (2) AFRS ARG

(3) SEIF wFIE () A gAeRET

Which one of the following is not related to 'mental toughness' of sports
person ?

(1) Coping with pressure of competition

(2) Sensation seeking

(3) Determination

(4) Resilience

Bt ¥ 9 B oo ReaRl @ it wover & v g ¢ ¢

(1) ufemmel % g9 9 yeww -

(2} TG @ @

(3) g fwy
(4) EHeegEiTeTT

Which of the following theory is widely used to explain relationship between
attitude fo spart and sporting behaviour ?

(1) Theory of Reasoned Action (2) Transactional Anal}'!ﬁs
(3} Drive Theory . " (4) Social Learning

e A 9 @ Rigid T SR e ¥ A B SR aPR dk a
AqER T T ) AT B forg vy s # 7

(1) == aitm fesie oo () TRTF Tfife
(3) e ey (4) S gl
(39)
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105.

106.

107.

108.

Raven's Progressive Matrics is a test of:

(1} Intelligence {2) Adjustment

(3) Personality {4) Psychopathology
W @1 AR A wderr @ '
(1) =fy o (2) <RI

(3) afkre @) wfapfy

The foot-in-the-door technique of gaining compliance is based on which of the
following ? '

(1) Commirment (2) Reciporocity

(3) Ingratiation (4} Adaptation

T TR S FY Fe ISR e i # ¥ W o ariRd 2 7
(1) TR | (2) TRERE

(3) TSR (4) g

Which one of the following is a defining symptom of anxiety disorder ?

(1} TTallucination (2} Apprehensiveness
(3) Delusion . (4) Incoherent thinking
frefafed # § @19 T SR HAIRER @ qRe dEqv g ?
(1) P (2) W

(3) EE (4) s fama

Choose the correct pairing from the following ?

(1) Kohlberg-Learning (2) Festinger-Dissonarce
(3) Guilford-Aggression " (& BanduraIntelligence
Prfafed % & wE 9IS @1 T B 7

(1) gt —HERT - (2) wRER-fag=nfaa
) PeTR-EEET @) oo
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Which one of the following defines the ratio scale of the measurement ?

{1} Presumed to have absolute zero

(2} Presumed to have reference zero

(3) Can be used to identify persons

{4) Differences in successive units of measurernent is presumably unequal
PR 3 % 9t T s AR ) v e ¢ 7

(1) Frede = &1 e wefeaa @

(2) wefe T &1 S wofeay &

(3) cHfderdl s weggell @ siffieret &g wgE B o W #

(@) Ao B ST g ¥ s siov ywford ¥ -

Learning of fear is best expiémcd'b}' which ef the fallowing experiment ?
(1) Seligman's classic experiment

(2) Pavlov's dog experiment

(3} Skinner's pigeon experiment

(4) Bandura's bobo doll expériment

o 1 s PrefRe ¥ ¥ S wEn e w1 Y W SR 2
(1) aferi= w7 wrey oy
(2) IRRAE B g 9 wEm
(3) ReTR o FER W garT
(4) 350 & 99 S W wE

Making reasonal judgement about claims § ekainple of which t
) f
kg = e yee o

i1} Convergent (2) Creafive

(3} Divergent '(4) Critical
w¢mmﬁammwﬂm¢mmm%?
(1) afFam . (2) gt
(3) e | (4) e

(41)
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112. ‘Depositing the income tax before the due date to avoid paying a penalty’ is an
example of : '

(1) Positive reinforcement (2} Negative reinforcement
(3) Learned fear (4} Generalization

AT @ e B g S Ry 9 9l e ST FT ST U SCIENT B
(1) & geerT &1 (2) FEOTeE GEea &

(3) e Y @l (4) TATTET S

113.  Which one of the scaling method is related to multidimensional attitude scale ?
(1) Guttman Scalogram analysis (2) Paired Comparison method
(3) Equal Appearing intervals method (4) Method of Summated rating
ﬁiﬂl’%{%ﬂﬁ_ﬁﬁaﬁ% o Aee ey FgfevaTs :e;ﬁqf%fﬁlq-rﬁi?r'ﬂtzf@ﬂ%?
(1) e e e (2) g™ gl Ak

(3) A s fafy (4) W= A R

144. How is the somato-sensory information obtained ?
(1} Trom the Endocrine system
(2) From the Chemical system
(3) From the Bodily system
(4) From the Arino acids
sRE-EIe gay B T # T 7
(1) e 74 ¥
(2) wrrafE T A
o MWE@AE
@) et RS
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Manic episodes are a defining feature of which of the following ?

(1} Major depression (2) Post-traumatic siress
(3} Bipolar (4) Schizophrenia spectrum
S SR e @ e gReYE o E 2

(1) yq& FEa (2) e sffer viee

(3) sfgda (4) i wags

When workers exert less effort in a group than they would when working
alone, what is the result called ?

(1) Group Think (2} Social Facilitation
(3) Social Loafing (4) Socal Interaction

Tl S A B R A e W § BW A g 9 Um o § o g
R P T P & 2 '

{1) ¥4z ¥rg . - (2) i Wied
(3} HFfoTE srEEg (4) WPnioe sfar

. Fight or flight reactions during fear is controlled by which nervous system ?

{1) Sympathétic Nervous system

(2) Parasympathetic Nervous system

(3) Peripheral Nervous system

(4} Spinral cord .

P GRA TS A1 W S AR R T oF @ el B £ 0

(1) REiEiew e & (2) MW .
(3) uRefrg e o3 W) ¥evs ..
;;;:;f:ﬁiﬂm?ihihi]iﬁms and rain are in hig/her COMgop]. ! He/she is
(1) Delusion of Persecution (2) Delusion of grangey,
(3) Delusion of power (&) Delusion € love

(43)
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119,

120.

;Jq;ﬁaﬁﬁﬁ'ﬁm%%a—qﬁafmmﬁwﬁmﬁﬁﬁw%rﬁ%ﬁmmnﬁ'ﬁ
aE 7

(1) ST T g _ {2) Rsnerer &1 THE
(3) wufdm &1 =R (4) WA B THE

'What do yau suggest should be the age criteria of the Prime minister of India 7
This type of question is an example of which type of interview question?

{1) Dj:ren ended (2) Closed ended (3} Mirror type {4} Bipolar type

ELRCCIRsEIC 3 E Fr aRe & wEd @) e B SEd) e dey ¥ ¥
gFR 1 9 (50 GHR 3 HRTREN TE BT e T 7

(1) g (2) 5% (3) ufdfeg @) eyl

Frustration is the resuit of ;

{1) Blocking of needs and motives

(2) Incompatibility between two or more needs
(3) Expectations from omeself and others -
(4) High level of aspirations

tgu:ﬂ TR # |

(1) aeemeart 4R AfmwH! § swmEe

(2) 21 m wow svgeaEel 3 i @

(3) W% TG TR W S &

(1) Tea FTHET TR B

(44)
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